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The function f(x) isgivenby ~ f(x) = 2x° + 7x? — 4x.

Q) € 1S HIGHEST Commom FACTOR
(a) Show that f(x) =x(2x = D)(x +4).
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(b) Hence, or otherwise, write down the real solutions to the equation
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‘The function f(x) is given by f(x) = 2x% + Tx? — 4x.

(a) Show that f(x) = x(2x — 1)(x + 4),
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(b) Hence, or otherwise, write down the real solutions to the equation
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‘The function f(x) is given by

o) Sug 2=\

f(x) = &% = 4x? = 7x + 10

(a) Work outf(1) and hence write down a factor of f(x). F(‘) = \3 - L" (1)1 -7 (l) o
2 | -4-7 v10=0
(b) Work out £(x) + (x +2).
m | Te ((q) =0 (oc-a) isaracoe

(c) Write f(x) in the form (x + a)(x + b)(x + c) where a, b and c are integers to be
found.
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‘The function f(x) is given by

b) USE PoLYNomi AL DIVISION

() =2 = ax? =72 410
(a) Work out f(1) and hence write down a factor of f(x). xl — b + S
) OC+2) 3 —yx? —72¢ +10
(b) Work out ()  (x +2).. - (x 3 20t
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() Write [(x) in the form (x + a)(x + b)(x + ¢) where a, b and c are integers to be
found.
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‘The function f(x) is given by

¢) USING FACTORS AND DIVISIOW
) = 0 — 42 = 7x + 10 FRowmt PART (o) AnD (b)

(a) Work out f(1) and hence write down a factor of f(x),
£(x) = (xx+2)(xx*—bx +5)

(3-1) 18 aFACIoR oF £C) P
AND ét-rl)(:c‘-éx 4-5)

(b) Work out £(x) + (x +2).

w | EITHER BY FACTORISING QuADRATIC
(c) Write f(x) in the form (€ @)+ B)(& &) where a,b and ¢ areiitégers to be OR RECOGNISING THAT ANOTHER
found. FAc7M® (S (DC— I)
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Which one of the following algebraic fractions is improper? Explain your answer. |
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Find the remainder when x* + 2x% - 5x + 8 is divided by (x = 3). VSE P0L7NMIAL DIVISION
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2 gy 20)+ (x—2) = o«
Given that (x? — 8x —20) + (x = 2) = Ax + B+ —
where A, B and C are integer constants.
(a) In terms of 4, B and/or C as appropriate

(i) write down the

(ii) write down the quotient,
(i) write down the remainder.

(b) Find the values of 4, B and C.
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Given that (xl—sx—zu)+(x—z)=-g
b) USING POLY N om) AL D) VISIoN

where A, B and C are integer constants.

(a) In terms of 4, B and/or C as appropriate x - 6
(i) write down the divisor,

(ii) write down the quotient, o -2 ) x? -Fx -20

(iil) write down the remainder. ,( xt_Q DC)

o —tx—-20
(b) Find the values of 4, B and C: - (“ 6oc +1 2)
1] -32
2
x -6 - 3—
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‘The function f(x) is given by

() = * +ax+b,
where a and b are integer constants.
Itis also given that f(3) = f(—8) = 0.
Find the values of @ and b.
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(i) Factorise x? + 7x + 12.
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2x% +10x
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